F£46[E (2023FE)2EIOCTA=TFA) U EYIhYTEEZKikFHKE KK a1—hTL—E5LESR]

GNo A-67 44534P A3fi [2024/3/30]
CAP Team 1P 2P 3P 4P PSO 5t =I5 FEEERBRESKKIS
W Brhkeky57 0 1 3 B4 =iE K
B | BILRAZIVT /LR 1 0 0 1 gH2 WK FHEE
Ba/a—k RETL— =X /Incomplete 7 L —
~ i} & F t = 6 7 U | P|IPY|TR[E|P|XK
F K by 2 > N m ? ’_\ / ??. El | =]/ |= EZ/Ich;n:iete
No. |=mkmss ’7_1_’ ’7{ "IL‘ w 7 2 ;E?% Z N ; %’ JE E Kl:jﬂ'é\—jtsx
u b Fo| &bk - i) IR M:AtL DI R
T
1las —E 0 0 0 o[(0|O0|P
211ZK thiE /1 /1 4 1 2 210] 2 |PK
EIL FEE 0 0 0 0(2]0
4|B@R @i /1 0 0 0 o[(0|O0|P
51/Ms BA 0 0 2 o[(0|O0|P
6/NEF EX| 1/1 /1 /1 /2 0 2 1 21111
7% BE&E /1 0 0 0 Of1]0]|PP
8|XKig EZ=| 1/1 1/1 /2 /1 0 0 0 0f1]0
9I’EH EEN| /1 2 0 0 0({0]|O0
10|HH M 0 0 0 0({0]|O0
M|AR FZT 0 0 0 0({0]|O0
12| =& 0 0 0 0({0]|O0
13| ZR’E 0 0 0 0({0]|O0
14 0 0 0 0({0]|O0
15 0 0 0 0[{0] 0
F—LEH| 2/3 | 0/3 1/1 0/3 | 0/1 0/4 6 3 5 415(3
BRBE= 3 a—rEE = 15
GK HFE1—MK LR 20998 | R 1—MHEIEE%
GK1|BE —E 15 1 9 90.0%
GK13|F ) ZKiE 0 0 0
Br/a—k RETL— =X /Incomplete 7L —
~ B[R F t 2 6 7 Ul PIPYIR[EIP[K
A X byg 2 b N m 9 A /l7alal ||/ |%|] IR/hcomplete
NO_ BIIRAIVT LR )_l/ ’( a )I/ :/ 3 :E :/ | Y }I/ ,E H:_‘-f P:/ \OZE_Z
T 2 [ 3 . FIAM|VE B | R K¥—7 =X
1 v I 1 K [ Bl M:AtL DI R
T
1|8A B 0 0 1 0({0]|O0
2| & gAER| 1/1 /1 /1 0 1 0 0(2]|1|K
3[LUT 3FE /1 /1 /1 0 0 0 0({0]|O0
4|1ERN Ha¥ 0 0 0 0({0]O0
5iFK BEX /1 /1 0 0 2 0(2]0
6|k IHE 0 0 0 0({0]|O0
1128 Bz /1 0 0 1 0f1]0
8|&E i #RER 0 0 0 0({0]O0
9|80 #n= /1 /1 /1 1 1 0 0[O0 1
10[lUTF = 31 0 0 [0]0]1
11|k EH /1 /2 1 2 3 0 1] 0|PKP
12|80 =] 0 0 0 0({0]O0
13| KE RIE 0 0 0 o(fofo
14| 1L BE 0 0 0 0({0]O0
15|5%® £ 0 0 0 0j0f0
F—LE| 11 0/3 0/2 0/3 0/6 5 4 7 0[6]3
HBREE= 1 a—rER= 15
GK HE 21— KEH J0v5% | #ATa—rHIEE%
GK1 |8 BiE 15 3 7 70.0%
GK13|KEF ZIE 0 0 0




